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MATHEMATICAL NUMBER SENSE

Describe each of the numbers as rational or irrational.
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Plot the following numbers on a number line. 2m, 10, 3.5, 176
65 on
& | | % ir i ] ]
< [ | to——] ] _ I i o—] ] >
1 2 3 4 5 6 7
The temperature on Tuesday was 8 degrees. On Wednesday the temperature fell 12
degrees. Use the number line to show how to calculate Wednesday’s temperature.
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Rewrite a problem that is the same as — % - (- —) then solve your new problem.
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How many numbers have an absolute value of 4?7 of 0?7 of -37

- O NONE

Find 0 = 8. Find 8 + 0.
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Define integer and give 3 examples.

lr\+e%ers Ore Hhe set of posrhive Whale ruweers,
Hheir opposited, and €, Ux. O ~3.3.5,-S

Find the mean and median of the following set of numbers,

104, 4.0, 3.6, 2.2, 5.8, 04

Meediian 3.
Rewrite each fraction as a decimal. — % -i—z
¢ Y,
—4.28 44106
Rewrite as a fraction in lowest terms. -1.372 2.48
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Jimmy was notified that his balance in his bank account was —7 dollars and he was being

charged a $30 fee since he had a negative balance. Today he added $50 to his account.
What is Jimmy’s new balance after today’s deposit?

~H 30 +50 = g(3



PROPORTIONS

The scale on amap is 1 cm=3.5 mi. Alfredo measures the distance on the map between two towns and
calculates it to be 6.5 cm. How far apart are the towns?

lem _bowo
35m X X=21 miles

A science book shows a picture using a scale of 1 cm = 0.02 mm. The actual is 0.054 mm. How thick
is the picture in the book?

lem  x
O.02mmM ~ 0.0/ x= 2.Femn

Jimmy casts a shadow that is 3.2 feet long and is five feet tall. At the same time a flagpole casts a
shadow that is 12 feet long., How tall is the flagpole?

S 3.2 \2 _ —
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Write a proportion to find the missing side.

2.3 X
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A sketch of a rectangular poster for a bus is 9 inches high by 11 inches wide. The poster company is
using a scale of 1inch = 1% feet. What are the dimensions of the actual poster?

L0 qn 0 Wy
IS 6% v RIS A

Height= |, 15 £+ - Lengt=_|Q 256

The dimensions of a rectangle photograph are 12 inches long by 7 inches wide. Find the measurements
of the picture after it is dilated using a scale factor of 4.

Length=_ &4-& n width=__ 28 1M

A triangle has side measuring 24 inches, 10 inches and 8 inches. What are the lengths of the sides after
a dilation using a scale factor of % ?
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Figure A was dilated to form figure A’. Find the scale factor.

Scale Factor = 4"

20m

3m A)

4.5 m 18 m

Graph and label the points to form quadrilateral ABCD.

A2,-1) B (10, 8)

C(2,4 D(6-8) 24 "
A7
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Dilate ABCD using a scale e W4
Factor of § Graph and label the points. )
List the points below. /
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GEOMETRY

Find the compliment and supplement of each angle.

1. m <L ABC=38" 2, m4LEFG=18"
[~ .
complement = 52 complement =
=]
supplement = \ 4’2_ supplement =

+2.°

Use the drawing below to answer guestions 3-7.
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3. Name a pair of adjacent angles at the intersection of line a and line ¢ £ \ i < 2
4, Name a pair of vertical angles at the intersection of line b and line ¢ 4 5 ! 4(0
5, Name a pair of alternate interior angles 45 1 - 9'
6. Name a pair of alternate exterior angles - l / L C‘Q
7. Name a pair of supplementary angles at the intersection of line b and ¢ _AS ; Z_Z.'.
Use the diagrams to answer the questions 8 - 10. Show work.

L

x+16
A+ 205 180

9, Find the measure of each angle. A
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10. Find the measures angles 1-5if them £ 6is 112°

vea_ T A

me=2_ \\2 <2 132 >
mes_ 112° "

mL=4 Lo"f‘ <& 4\s5 \\Z- S
mL=5 \\7-0- H'26.

1 ms= 00 mo= 2L mao= BYH'Y pa1= 40°

AD||BC. Aé D

112
12. B The polygon below is a regular polygon. Find the measures of angle x and . ¢
-
miLx= lQO
2
13. Find the value of y. Write the measure of each angle inside the figure in the boxes.

14. A triangle has sides measuring 6 meters and 5 meters. The length of the third side is a whole
number. Give ALL of the possible lengths of the third side,
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For problems 15-16 find the length of the missing side. Round all of your answers to the nearest
tenth, where necessary. .

15. 16,
12

X
For problems 17-18 place the answer to each question on the blank. Show work. Round all of your
answers to the nearest tenth, where necessary.

17. A man walks his dog 7 blocks north then turns and walks 6 blocks to the east. How far are the
man and his dog from the starting point?

* 9.2

18. A square has a perimeter of 32 inches. Find the length of the diagonal of the square.

1130

18, Circumference \dr' "W, o
Area 4.0 T

Leave your answers in terms of pi.

20. Graph: A(3,6)},B(3,-5),C{-7,-2), D{-7,6) Show all work. Label your answers.
l ' 9'4

Perimeter = 5"*‘-5% U(\‘\'\L‘S
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Find the perimeter and area of the figure. Show all work,

21. Perimeter=_ 2.5 3’ e S5 cm

: 7
22. Area = /g'7 el 7.7 ‘ 3 em

{ 3 1cem

3.4 cm

25 cm

Find the surface area and volume of the following:

N
23. Surface Area = LI"L LJ In

24, Volume = 4’7/0 'W‘g

7.
25 Surface Area = MB/ M/ﬂ
3
26.  Volume= 4_)(7(;) M
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EXPRESSIONS AND EQUATIONS

Simplify the expressions using distributive property and combining like terms.

1. 3x—8+2x—-5 2. 2x+6y—2~3y—7x+2
Bx -3 ~Se 3y
3. Z(12y-2) 4. 4(5-3x)—6(x+5)
(Dtj - 200 =\ 25¢ — (o ~20
= =& -
Solve the following equations.
5. 2x — 1 = -12 Z _=12
O HR H2 2
2x =0 2.@...{) N2
=2 &
%= O »’= -l
7.  26=Z+ 8. /5x+6 3x+2-—28 4
ki | pres oy
{IOF (2 g )
=30 %%‘ x=8
9. 5x — 20 = ~40 + 15 10, 3(x+9)=2x+4
St 2= ~25 BreaT=gred
&+ +20, Ww
> 2= g

z =3 | = -
2 K=l . EIEE
1. 4[5(x+3)-2x+1D]=3x+11 2. = — 6= —x + 12
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13. 3(2x 10)*—7x 14. 8+4(x+2)—2x+3(x+7)
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For each word problem write the equation that could be used to solve the problem.
15.  The sum of three consecutive integers where (n) is the smallest integer is 312. Find the
number.

NFN -2 = N2

16.  Thelength of a rectangle is 2 more than twice the width (w). The perimeter is 72 inches.

Find the dimensions.
z(z+2v\/)+ 2w = T2~

17.  Karen had 60 pieces of candy. After giving 4 pieces to each of her friends (f) she had 12
remaining. How many friends does Karen have?

GO- A= o

18.  The longest side of a triangle is 6 more than the shortest side (x). The third side is one
more than the shortest side. The perimeter is 28 cm. Find the length of each side.

(o541 +3C + x= 28



INEQUALITIES AND ABSOLUTE VALUE

Graph each inequality.
1. x<5

A
oW.
:ﬁ\
o
u

v

5 2> é&&rﬁm&?

W

>,
IN
_O

7 8 9 10 11

Solve. Show al work.

5. £x+2>36i-—13 6. —2(4x - 5) <50
- _ _ - o
ot B+ 1h <o
- ;‘.’_X-Lé 4'0 X >-5
B7¥ (55X =2p
7. ——=9>—6 8. 7(x +5) = 4(2x — 1)

9

5
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9. Z(8x—16) <x+22 : 10. 5—-(2x—5)=—3x+14
2><*4'£—;j<"22‘ 52x £3 2 -3+ ($
—X Val

_ —f-(O—-—g?"f_m_

v < 2.7
. T & 2l {O DA N "'—/‘V Z
Write an inequality foF cach problem below.

11.  Thebalance in Beth’s checking account is $200. She must make ag—é osit (d) (/ so that she
has at least enough money to pay her $450 rent bill.

200 +d 7 ASTO

12. Mike wants to rent a car for his vacation. The rental costs $85 a week plus $0.18 a mile.
How many miles (m) can Mike travel if he wants to spend at most $150 for the car?

85+ O £ [T



Represent the shaded portien of the number line using interval notation.

o> (-3, 0)
-8 1 .
i, €t > (-o0,5] [1l,o0)
-5 1§
Graph each compound inequality.
15, —-7<x<£-3 < q
9 =1 =5 = .
16, x<5o0rx=10 ﬂm,q&;yz@__@ﬂ,ﬂdﬂ@/

Selve. Show al work.

17. —~9<3m+ﬁ§f$21 18. 5x7/1.>9 or 4x —§/< —12
4 A =9 M A + +E
Lo & X > O X <=
Lre < e ) ey
T germzal k=g o [ o]
19. “Bx+ A< -5 or —4x+2 <2 20, S<4x-7<7
() 2 -2 +5 3 13
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Solve. Show all work. Circle your solution(s).
23. |x] —g——- i5 24, |2x — 4| = 24
+ 42

=13 wh A
=, -1 = 2x= 7o

x:m.} gy

( |x+3|
25, &;1::—11=21 26. Z\z
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27. 2|x+8|+2/2—30 28. |-§|=1%2%:®>3 f{@;—}Q@*B
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LINEAR EQUATIONS

Find the slope of each line.
1. i 'y 2. y 3. ¥ ¥y
o] 2 LY
A / [
X X 1 X - X
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Find the slope and p-intercept.

20. y=06x+8 R 21.3x+ 4y =-24 22,2y=38§ -
-«L/L'F;\:(O ) 4y - -2% ’ =1 —
=l 4 1 L~ m—b gy it Ot‘—m

25.4x—-5p=2

| ] Y
e =2 08 w3, - m> % gt (o, ’J

A line passes through the given points. Write an equation for the line in slope-intercept form.

-3
23. y=—x—8
Y=

26. (-2, 4) and (3, 9) 27. (1, 6) and (9, —4) 28. (0,~7) and (-1, 0)
/2 K+l V= "5y % Y= Ix-7
28. (7, 0y and (3,-4) 30.(0, M and -7, 1) 31. (10, 0y and (0, 7)
Y=X-7 Y= ’51'% = “%X‘F’?

Write an equation in slope-intercept form for each situation,

34. A skateboard ramp is 5 fthigh and 12 ft long from end to end.

35, An airplane with no fuel weighs 2575 Ibs. Edch gallon of gasoline added to the fuel tanks weighs 6 Ibs.
. . mm——
Y= (px+2€ 73

Find the x- and y-intercepts for each equation.
30,y = ~Tx 40.y=%:\:+3 .2y =55-12

mH O, 0 ) (0, &

Ym0, ) V“’ﬁ‘(o,‘s\ Y et ( !J )
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Graph each equation.
42.x +4y =28 43.y-5=-2(x+1) 44.x+3=0

45. 4x -3y =12

Write an equation in slope-intercept form for each situation.

48. A train travels at a rate of 70 mi/h. Two hours after leaving the station it is 210 miles from its destination.

49. An escalator has a siope of % . After traveling forward 32 feet, the escalator is 24 feet above the floor.

Write an equation in slope-intercept form that satisfies the given conditions.

52, parallel to y = 4x + 1, through (-3, 5) 53. perpendicular to y = —x - 3, fhrough (0, 0)
- L[‘;{ 17
N }/f: -¥
54. perpendicular to 3x + 4y = 12, through (7, 1) §5. parallel to 2x — y = 6, through (-6, -9)

\}: ’.%:)( 4 Zg-\ y: 2x +73

56. parallel to the x-axis and through (4,-1) 57. through (4, 44) and parallel to the y-axis

Y= Yo
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Additional Linear Equation Problems

Find %-intercepts and y-intercepts in a, y=-3x—6 b, 2x-6y=-18

:_1.“\{,6,2_) Y }((mf'CT ?) 2>
yinklo -3 gyt o , 3 )

Find a solution the makes the equation true and prove it: 2y + 12 =4x ﬁ

V=22 -
(O} - (12)
Find the slope passing through (-7, 3) (-3, 7)
o e ¢ [
A1) 7

Find the stope and y-intercept of the following: a. vy =—:1,’-x- 6 b. 2x-4y=10 -

m = -J.S“ M= _é:

-
it CO,~6) yrt: Co, 3

Kevin's savings accounit balance changed from 5840 in January to $1440 in April, Find the average rate of change
per month. Round your answer o the nearest dollar.

. Write an equation of a line with slope —-é and goes through (2, - 6)

J= e -

Write an equation that passes through (-2, 1) and (2, 5)

' g:X+3



9. A climberis on a hike. After 2 hours he is at an altitude of 1400 feet. After 5 tiours, he is at an altitude of

3100 feet. What is his average rate of change?

§L0. 0 Hir

10. Larry currently weighs 250 Ibs and plans to go on a diet and lose 3 pounds per week. Write an gquation that
models his weight(y) in relation to weeks(x). How many weeks will it take him to weigh 224 [bs,? What does

slope and y-intercept represent in this particular problem?

T \ o b stayin g

g ol
—3 s wecke -
11. Graph using slope intercept form: a 2y—=1l=x and b 2x+y=-2
oy V= ‘f_L N 9y
H 2/ . H
‘/( \ .
ot o g la 1:345;““ et ls ladet af 4 o 9 N
1 \.1;
4= . %
4 r )
ji 5
By
12. Find the slope 13. Complete a table of vaiues fory = %x—3 and graph
yans
L
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SYSTEMS OF EQUATIONS

1. Determine if each ordered pair is a solution to
the system. SHOW ALL WORK!

{4x— 3y =30

2. Solve the system oflinear equations by
graphing. State the solution!

{3y—3=-6x (//Z 'Cw

6,_2 ——— = —
PP R 2x=2y=-14

A

¢
S >

4
Solve by substitution or elimination.
3 2x+y=5 4 2x—-3y=-1
i dx+6y=12 ' 10x+ y =11

[4,-4) (1.4 )






Kuta Software - Infinite Algebra 2
Systems of Two Equations

Solve each system by graphing.

1) y=-3x+4
y=3x-2

A

Y

A

(~1.-4)

\

Solve each system by substitution,

5) y=4x-9
y=x-3

(2.-1)

7 y=-5
Sx+4y=-20
{0.-5)

Name

Date
2) y=x+2
x=-3
A
<% 4 P D >
-
(—3.-1)
4) 4x+y=2
x—y=3
A
\
\
A
. \ »
AR \
/1 1\
A
¥
(1,-2)
6) 4x+2y=10
x-y=13
(6, -7)
8) x+7y=0
2x—8y=22
(7. -1}

Period__



9) 6x+8y=-22

10) ~7x+2y=18

y=-5 6x+6y=0
(3, ~3) (-2, 2)

11) 7x+2y=-19 12) 3x—-5y=17
-x+2y=21 y=-7
(-5,8) (-6, —7)

13) Tx+4y=24 14) 4x—y=20
4x—4y=0 —2x-2y=10
(-8, ~8) (3,-8)

Solve each system by elimination.

15) 8x—~6vy=-20
-16x+7y=30

(-1.2)

17) —8x—10y=24
6x+5y=2

(7.-8)

19) 4dy—11x=36

20=-10x— 10y

(-4, 2)

21) 0=-2y+10-6x

16) 6x—12y =24
-x=-6y=4

(2,-1)

18) 24 -8x=12y

LS 7
EIAN
T

(6, -6)

20) -9 + 5y =—4x
~11x=-20+9y

(1.1}

22) —~16y=22+6x

14— 22y =18x ~1ly—4x=15
(2,-1) (-1, -1)
123) —16+20x—8y=0 oy 5 1L
36=-18y —22x ) — A=Y
(-3.4)

Critical thinking guestions:

25) Write a system of equations with the solution (4, —3).

Many answers. Exix+v=1, 2yv+y=5

Create your own worksheets like this one with Infinite Algebra 2. Free trial available at KutaSoftware.com




